LONG MULTIPLICATION

2-DIGIT BY 2-DIGIT
WORKSHEET - 10

38 95 14 54

X 62 x 74 x 87 X 62

76 380 98 108

+ 2280 + 6650 + 1120 + 3240
= 2356 = 7030 = 1218 = 3348
85 34 76 64

x 19 x 22 x 43 x 92

765 68 228 128

+ 850 + 680 + 3040 + 5760
= 1615 = 748 = 3268 = 5888
28 30 11 52

x 46 x 75 x 69 x 81

168 150 99 52

+ 1120 + 2100 + 660 + 4160
= 1288 = 2250 = 759 = 4212
68 73 92 60

x 45 x 33 x 18 x 30

340 219 736 0

+ 2720 + 2190 + 920 + 1800
= 3060 = 2409 = 1656 = 1800
90 15 73 77

x 37 x 83 x 14 x 53

630 45 292 231

+ 2700 + 1200 + 730 + 3850
= 3330 = 1245 = 1022 = 4081
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